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INSTRUCTIONS: 
1.​ This paper consists of section A, B and C with total of eight (8) questions. 
2.​ Answer all questions. 
3.​ Show clearly all workings on the spaces provided besides each question. 

 

SECTION A (10 Marks) 

No QUESTION WORKING SPACE ANSWER 
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i) 4259 + 5891 =   
ii) 57645 – 34413 =   
iii) 12 × 13 =   
iv)  1260 ÷ 4 =   

v)  3
20 +  8

20 =   

 -  = 𝑣𝑖)  3
5

1
4

  

 x  = 𝑣𝑖𝑖) 1
3 

2
3

  

viii) 199999 + 11 =   
ix) 139 x 26 =   
x) 3000 ÷ 15 =   

 

SECTION B: (30 Marks) 
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a) Write the largest number from the 
following numbers: 2, 4, 6, 8, 9, 5 

  

b) Amina took 2/5 of the garment. Asha 
took 1/10 of the same garment. What 
fraction of the garment has taken by all of 
them together? 

  

c) How many coins of 200 are there in 1000 
shillings? 

  

d) Janeth had CLIV eggs, if LXI eggs were 
broken. How many eggs remained with? 

  

e) Abdalah is paid 5000 shillings every day. 
Find the amount paid to him on a month of 
February 2024. 

  

f) There is a prime number which when an 
even number is subtracted, the answer is 
zero. What Prime number is this? 
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a) A village sold 54,803 cows, 4,600 goats 
and 6,948 sheep. What will be the sum of 
the cattle sold? 

  

b) If one cow produces 15 liters of milk per 
day. How many liters of milk will be 
produced in a week? 

  

c) Makiwaru ward has 54163 pupils from 
different primary schools. If 7892 completed 
standard seven this year, how many pupils 
remained at the ward primary schools? 
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a)  Maria’s mother has 57,000 Shillings, she 
wanted to buy a TV which costs 75,000 
Shillings. What shortage does she has? 

  

b) Asha want to write 205 in Roman 
numbers. What will be the correct answer?     

  

c) Write XXXVIII in words.   
 
 
 
 
5 

a) The age of a standard four pupil at 
Uhuru primary school was as follows: 
Sauda 9 years, Salama 8 years, Emmanuel 
10 years and Hasani 9 years. What will be 
the average of their ages? 

  

b) Asha filled 3/9 of the water tank and 
Halima filled 2/9 of the tank. What fraction 
of the water tank was filled by both of 
them? 

  

c) Find the LCM of 6, 10 and 12   
 
 
6 

a)  Hours        Minutes 
       7                    20 
    + 1                    35 
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b) List all even number between 25 and 35   
c) Find the LCM of 12 and 20   

 

SECTION C: (10 Marks) 

7 The following chart is showing sells of the sugar in a shop in Kilogram. 
 

 
 
a) How many kilograms of sugar were sold on Monday? 
 

  

 b) If 1kg was sold at a price of 2800 shillings. How much will be the sales of 
Wednesday? 
 

  

8 a) What will be the Perimeter of the following play ground? 
 
 

 

  

 b) Find the Perimeter of the following figure 
​  

 
 
 

  

 c) Name the polygon below;   
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